
qm=;= j*fg+= of]hgfsf] gfd ?= kf+r nfv eGbf dflysf cfof]hgfx? /sd

1 1 jdf{uf/ l;rfO{ of]hgf 500,000.00    

2 2 d'ns'nf] lzrfO of]hgf 500,000.00    

3 3 *fkm] b]lv d'n jf^f] x'b} xlgdfg ;Dd hf]*\g] ;*s 500,000.00    

4 4 ‰ofs|] vf]nf b]lv e§]rf}/x'b} bxrf}/ 8f]6]x'b} nfl6u}/f 6'l8v]n x'b} 8fF8fvfnL hf]8\g] df]6/ ;8s 500,000.00    

5 5 df=lj= Hofld/] blv lkKn] *f^] ;Dd df]^/ ;*s 500,000.00    

6 6 7'nf] /fOs] lnˆ6 l;rfO{ of]hgf 500,000.00    

7 7 z'ef3f6 u+ufdfnf g=kf sf] j8f g+= & Dff vfg]kflg dd{t / kfOk nfOg vl/b ul/ dd{t ;'wf/ 500,000.00    

8 8 s[i0fgu/ b]lv wf]/]gL ;Dd vfg]kfgL nfOg dd{t 500,000.00    

9 9 e'b'ª vf]nf b]lv hx/] ;Dd l;rfO{ gx/ lgdf{0f 500,000.00    

10 10 lg=df=lj kl08t sfGnf ljBfnodf sDkfpG8 lgdf{0f 500,000.00    

11 11 j8f g+= !! Df l/Ë/f]8 lgdf{0f 500,000.00    

12 12 e]8fjf/Lk'n jhf/ b]lv ;'Gb/vfnL vf]nf hf]8\g] * ld= j/fj/sf] ;8s lgdf{0f . 500,000.00    

13 13 8Jjnl;+ dfu{ rf]s b]vL >LjfgL x'b} uf]snk'/ c:tkfn ;8s 500,000.00    

15 15 ;ftd'n] d'njf6 lnK6  vfg]kfgL lgdf{0f ug]{ . 500,000.00    

16 16 ;ftd'n], r's]vf]nf b]lv hf/sf6] tf]/Ljf/L s'dL{ ;8s 1,000,000.00   

hDdf 8,000,000.00   

qm=;= j*fg+= of]hgfsf] gfd ?= kf+r nfv eGbf d"lgsf cfof]hgfx? /sd

1 1 cfku}/f l;+rfO of]hgf 40,000.00     

2 2 gf/]u] d;]/L l;+rfO s'nf] , 50,000.00     

3 2 cfk;f]tL ;LrfOs'nf] 50,000.00     

4 2 s'dfnkflg vfkf of]hgf 40,000.00     

5 3 *fF*fufp vfkf of]hgf dd{t 90,000.00     

6 4 e6]ef}/ t/sf/L ;+sng s]Gb| 6g]n vl/b 25,000.00     

7 5 ;fGtL tyf rL;fkfgL s[lif{ t/sf/L ;d'xnfO / ljpljhgtyf ^g]{n vl/b 40,000.00     

8 6 ;nfd] 6f]ndf kfOk vl/b 30,000.00      

9 7 u|fld0f ;8s j8f g+ & 90,000.00     

10 8 vq] vf]nf t6jGw 90,000.00     

11 9 cw]/L vf]nf vfkf dd{t 25,000.00     

12 10 k|f lj j]ltgLdf dd{t 90,000.00     

13 11 ]u+u6] ;L+rfO jfFw lgdf{0f 90,000.00     

14 12 sf]zL kflg vf=kf dd{t jfbL 6f]n 30,000.00      

15 14 dx/6f]nf vf=kf= dd{t 25,000.00     

16 15 ljrf/kfgL d'njf6 j8fvf]nL jhf/ vfkf dd{t 90,000.00     

17 16 jhf/ gfnL lgdf{0f -;f]t/vf]nL jhf/_ 90,000.00     

hDdf 985,000.00   

qm=;= j*fg+= &"nf k"ad{wf/sf of]hgfsf] gfd ?=4500000.00 nfv eGbf dflysf cfof]hgfx? /sd

1 14 j8f g+= !# uf]r]vf]nf kSsL k'n b]lv j8f g+= !$ sf] sf]lKr yUn]lg 6f]n x'b} ;xf/] hf]8\g] ;8s 4,600,000.00   

2 hx/] b]lv z"ef3f6 gu/kflnsf sfof{no x'b} cf}n;'df{ ;Dd e]/L lsgf/ ;8s lgdf{0f 4,616,000.00    

hDdf 9,216,000.00  

 lg)f{o g=10 cf=a=2073÷074 sf] ;+;f]lwt gu/kl/ifbdf %nkmn ubf{ ef}lts tyf k"af{wf/ lgdf{)fsf] /sd tklznsf 

lzz{sx?df lalgof]hg ul/of] .



 


